Chem 112 Spring 2020 Quiz 3 Whelan
SID Last Key First  Answer
Question 1 | Thallium-201 is used medically to diagnose heart problems. The half-life of thallium-201
3 Points is 72.9 hours. If you begin with 55.6 mg of this isotope, what mass remains after 193
hours have passed? Since the decomposition is a radioactive decay reaction, it is first
order.
Must Show Work for Full Credit
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Question 2 : The following initial rate data are for the oxidation of nitrogen monoxide by oxygen a‘r -
3 Points . 2BeC: 2 NO + 0z = 2 NO; T.Rake = RINOJ*LOL)3
Experiment | [NOlJo M | [Oz2]o M Initial Rate, M.s™!
18 ©]9.10x10°% | 5.61x10* | 4.20x10* H 1
2 a 1.82x102 | 5.61x10™* | 1.68x1073 3 = 9
3 ©/9.10x1073 | 1.12x1073 | 8.38x10™*
4 1.82x102 | 1.12x10°% | 3.35x10°3
a) What is the order of the reaction with respect to NO? &
b) What is the overall order of the reaction? D
Question 3 The graph on the left was used to determine the
2 Points m = -1.23x10% Activation Energy for:
Kk >= -_l;__:g 2 N20s(g) = 4 NOz(g) + Oz(qg)
Ol;?kk a) Circle the correct labels for graphs x and y axis?
b) Ea= 1023 y7molt
T 1O
Question 4 The following plots are for ’rhe r‘eac‘rlon A = B in Wthh ‘rhe [A] was monn‘or'ed for 8 mms
2 Points © [A] vs. Time i © [A] vs. Time : ] & [Al vs. Time
© In[A] vs. Time ® In[A] vs. Time < In[A] vs. Time
_ O 1[A] vs. Time _ O /1Al vs. Time = o ARy v W
< v/ Least Squares E‘ v Least Squares 43;' - * v/ Least Squares
slope = -0.080 ! slope = -0.144 = Tt slope = 0.285

Time
intercept = 0.916 Time intercept = -0.004 intercept = 0.786

From these plots the it can be determined that the Rate = 0 80 [A]—




